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Test One.

Part | Listening Comprehension

Section A
Directions: In this section, you will hear 10 short conversations. At the end of
each conversation, a question will be asked about what was said. Both the conver-
sation and the question will be spoken only once . After each question there will be a
pause . During the pause , you nust read the four choices marked A), B), C) and
D), and decide which is the best answer . Then mark the corresponding letter on the
Answer Sheet with a single line through the center.
Example: You will hear:
You will read:
A.2 hours B.3 hours C.4 hours D.S hours
From the conversation we know that the two were talking about some work they

will start at 9 o’ clock in the morning and have to finish at 2 in the aftenoon. There-
fore, D)5 hours” is the correct answer. You should choose (D) on the answer she-
et and mark it with a single line through the center.
Sample Answer (A) (B) (C) (B)
1. A.They get a bargain right away.

B.They have a look at the advertisement.

C. They throw away their TV set.

D. They go and buy a big TV set.
2.A. It was probably Mr. Brown's phone number that the woman wrote down.

B.It was just an hour ago that the man met Mr. Brown.

C.The woman forgot to write down the phone number.

D. The woman needed a sheet of paper to put down the number.

3.A. At the front of the train B. At the back of the train
C.1In the middle of the train D.Somewhere near the restaurant
4_A.She is often late for work. B.She comes in on time now.

\



C.She is fat. D. She signed the contract again.
5.A.Buying something in a shop  B.Ordering her meal
C.Attending a meeting D. Talking with a friend
6.A.He gets bored with his job.
B.He has eaten too much food.
C.He is sad about not having done something special .
D.He has lost his job.
7.A . They should wait until the last minute.
B.They should regulate their watches.
C.They should hand in their assignment early.
D.They should finish their compositions early on Friday.
8.A.There’ s not enough time to clear off the garage.
B.Tt has needed reorganizing for quite a while.
C.They should solve the math problem first.
D.It" s too early to clear off the garage.
9. A .He went shopping last week.
B.He’d rather travel around the world than go shopping.
C.He plans 0 go shopping later today.
D.He’s unwilling to go with them.
10. A. She has just recovered from her illness.
B. She gets bored with telling lies.
C. She looks pretty today.
D. She hurt her back.
Section B

Directions: In this section, you will hear 3 short passages. At the end of each
passage , you will hear some questions . Both the passage and the questions will be
spoken only once . After you hear a question, you must choose the best answer from
the four choices marked A), B), C) and D). Then mark the corresponding letter

on the Answer Sheet with a single line through the centre .

Questions 11 to 13 are based on the passage you have just heard:

11.A.A new way to take notes. .
B. A short name for the survey reading method.
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C.The five steps in the readipg process.
D.Different ways to study for examinations.
12. A . That one should think about the idea while reading the words.
B.That one should always take notes.
C.That one should read only the titles and the important words, not the examples

and details.
D. That one should read sequences of words.
13.A.Read B.Recite C.Review D.Reread

Questions 14 to 17 are based on the passage you have just heard:
14.A.A small town in Britain. B. A new type of jail
C. A labour camp D. A big gymnasium in Scotland
15. A.Women criminals in Scotland.
B. Criminals who are given long sentences.
C.Criminals who are given short sentences.
D. Criminals in Scotland.
16. A. The reward the prisoners get for their work.
B.The comfortable accommodation.
C.The way the prisoners are treated.
D.The officers’ sympathy for the prisoners.
17.A.To give the prisoners more freedom.
B.To help the prisoners keep their self-respect.
C.To help the prisoners develop the sense of independence.
D.To turn the prisoners into skilled workers.
Questions 18 to 20 are based on the passage you have just heard:
18.A.They were from the same parent language.
B.They bad complicated grammar but a small number of wonds.
C.They had difficult words but easy grammar.
D.They had a huge nummber of words and complicated grammar.

19. A.Three B.Five C.Seven D.Nine
20. A.Language changes more slowly in a primitive society than in an advanced soci-
ety. ,

B. Although words in a language grow, its grammar never changes.
' < 3.



C. Languages reflect changes in society.
D. Language is forever changing.

Part [| Reading Comprehension

Directions: There are four passages in this part . Each passage is followed by some
questions or unfinished statements . For each of them there are four choices marked
A), B), C) and D). You should decide on the best choice and mark the corre-
sponding letter on the Answer Sheet with a single line through the centre .
Questions 21 to 25 are based on the following passage:

Are organically grown foods the best food choices? The advantages claimed for
such foods over conventionally grown and marketed food products are now being de-
bated. Advocates of organic foods — a term whose meaning varies greatly - frequently
proclaim that such products are safer and more nutritious than others.

The growing interest of consumers in the safety and nutritional quality of the
typical North American diet is a welcome development. However, much of this in-
terest has been sparked by sweeping claims that the food supply is unsafe or inade-
quate in meeting nutritional needs. Although most of these claims are not supported
by scientific evidence, megmm;m_c’c_of written material advancing such claims
makes it difficult for the general public to separate fact from fiction. -As a result,
claims that eating a diet consisting entirely of organically grown foods prevents or
cures disease or provides other benefits to health have become widely publicized and
form the basis for folklore. ’

Almost daily the public is besieged by claims for “no — aging” diets, new vita-
mins, and other wonder foods. There are numerous unsubstantiated repoits that natu-
ral vitamins are superior 10 synthetic ones, that crops grown with organic fertilizers
are nutritionally superior to those with chemical fertilizers, that untreated grains are
better than fumigated grains, and the like.

One thing that most organically grown food products seem to have in common is
that they cost mere t than\ﬁcom;entionally grown foods. But in many cases consumers
are misled if they beli‘eve organic foods can Wﬂl and provide better nufri-
tional quality than conventionally grown foods. So there is real cause for concern if
c;s\m;c:s_,— particularly those with M_iggo;nes, dif_u’ust the regular food supply

o
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and buy only expensive organic foods istead.

21.According to the last paragraph, consumers who believe that organic foods are
better than conventionally grown foods are . h\
A.carelesss B .mistakenx  C. thrifty D. wealthy »

22.What is the author’ s attitude toward the claims made by adz'gcams of health
foods?
A. Very enthusiastic. , B.Somewhat favorable.
¢z Neutral . D. Skeptical.

23.The “welcome development” mentioned in paragraph 2, sentence 1 is an in-
cerease in _ .
A interest in food safety and nutrition among North Americans.
B. the nutritional quality of the typical North American diet. 7
C. the amount of healthy food grown in North America.
D. the number of consumers in North America. -

24.. According to the first paragraph, which of the following is true about the term
“organic foods”?
ATt is accepted by most nutritionists. ¢
B. It has been used only in recent years.
.C/It has no fixed meaning.  +
D.It is seldom used by consumers.}

25.The author implies that there is cause for concern if consumers with limited in-
comes buy organic foods nsiead of conventionally grown foods because

4. organic foods can be mare expensive but are often no better than conventional- £
ly grown foods -
B.many organic foods are actually less nutritious than similar conventionally ¢
grown foods .
C. conventionally grown foods are more readily available than organic foods
D. 100 many farmers will stop using conventional methods to grow food crops ¥
Questions 26 to 30 are based on the following
In a family where the roles of men and women are not sharply separated and
where many household tasks are shared to a greater or lesser extent, notions of male
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superiority are hard to maintain. The pattern of sharing in tasks and in decisions
makes for equality, and this in tum leads to further sharing. In such a home, the
growing boy and girl learn to accept that equality more easily than did their parents
and to prepare more fully for participation in a world characterized by cooperation
rather than by the “battle of the sexes.”

If the process goes too far and man’s role is regarded as less important that has
happened in some cases — we are as badly off as before, only in reverse.

It is time o reassess the role of the man in the American family. We are getting
a little tired of “Momism” - but we don’ t want to exchange it for a “neo-Popism.”
What we need, rather, is the recognition that bringing up children involves a partner-
ship of equals. There are signs that psychiatrists, psychologists, social workers, and
speciaﬁstsmdnfanﬁlyﬁebemﬁngmueawamofmepanmplayandthaxmey
have decided that womnen should not receive all the credit — norallthcblamc.'We
have almost given up saying that a woman’ s place is in the home. We are begin-
ning, however, to analyze man’s place in the home and to insist that he does have a
place in it. Nor is that place irrelevant to the healthy development of the child.

The family is a co-operative enterprise for which it is difficult to lay down rules,
because each’ family needs to work out its own ways for solving its own problems.

Excessive authoritarianism has unhappy consequences, whether it wears skirts o
trousers, and the ideal of equal rights and equal responsibilities is pertinent not only to
‘a healthy democracy, but also to a healthy family.
26. Notioas of male superiority are

A.muaintained by most American women

B. difficult to maintain in a home where the woman does most of the work

C. difficult to maintain in a home where the father is the acknowledged ruler of

the family .
gtdiﬁiculttomainmininahoxmwhcmhouseholdtasksmeshamdbymemdm
and father ‘

27.The danger in the sharing of household tasks by the mother and father is that

. the role of the father may become an inferior one
B. the role of the mother may become an inferior one

.6.
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C. the children will grow up believing that life is a battle of the sexes

D. sharing leads to constant arguing
28. According to the author, the father’s role in the home is

A.minor because he is an ineffectual parent

B. imrelevant to the healthy development of the child

%’._patinemtomebeal!hydevelopmentofdnchm

D. identical to the role of the child’s mother
29. Today, people who specialize in family problems

A.reaffirm the belief that a woman’ s place is in the home

B. would reestablish the father as the autocratic ruler of the family

C. have concluded that today’ s delinquent children are the resuit of Momism

/Dambemngmeawamofﬂwmwmofd\efm s role in the family
30. According to the author, uesolunond’famnypmblans .
A is best left in the hands of social workers
B.is similar in all families
C. can be reached by following ironclad rules
needs to be reached by ways unique to each family

ions 31 to 35 are based on the follqwing passage:

Disagreements among economists are k ary, but not on the issue of free
trade. A recent survey of prominent economists — both conservative and liberal — con-
cluded that “an economist who argues for restricting international trade s almost as
common today as a physician who favors leeching (K 3).”

Why the consensus? International free trade, economists agree, makes possible
higher standards of living all over the globe.

The case for free trade rests largely on this principle: as long as trade is, both
partners benefit; otherwise they wouldn’ t trade . The buyer of a shirt, for example,
values the shirt more than the money spent, while the seller values the money more.
Both are better off because of the sale. Moreover, it doesn’ ¢ matter whether the shirt
salesman is from the United States or Hong Kong(or anywhere else) .

The vast majority of American manufacturers face international competition.
This competition forces companies to improve quality and cut costs. By contrast,
protectionism encourages monopoly,lower quality and higher prices.



Americans pay an enormous price for protectionism — over $ 60 billion a year,
or $1000 for a family of four. Thanks to protectionism, for example. American
consumers pay twice the world price for sugar.

Free trade also makes the world economy more efficient, by allowing nations to
@pitalizeonmeirsuengths. The United States has an advantage in food production,
for instance, while Saudi Arabia has an advantage in oil. The Saudis could undertake
massive irgigation to become self-sufficient in food, but it is more economical for
them to sell oil and purchase food from us. Similarly, we could be come self-suffi-
cient in petroleum by squeezing more out of oil shale, But it is much less cosdy to
buy some of our oil from Saudi Arabia. Trade between our two countries improves
the standard of living in both.

Protectionism is both wasteful and unjust. It taxes most heavily the people who
can least afford it. Thus, tariffs tha raise the price of shoes burden the poor more
than the rich.

Despite the powerful case for free trade, the United States and the rest of the
world have always been protectionist to some degree. This is becavse free trade bene-
fits the general public, while protectionism benefits special-interest groups, which are
better organized, better financed and more informed. To make matters worse, much
of what we hear on this issue is misinformation spread by the special interests them-
sclves.

31. The economists .
A agree on the restriction of internal trade
B. disagree whether to restrict free trade or not
C.hold different arguments because of their different interests
P agree on free trade
32. The two partners in a free trade
. care for different things
B. care for the price
C. care for the thing being traded
D.do not care at all
33.What is the author’ s attitude toward protectionism denoted from the 5th para-
graph?
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